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Elementary of Financial Management

atfar ergerrenas e (Very Short Questions)
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What is current ratio

T ST T 2

What is Acid test ratio

3P TG ST T 2

What do you mean by liquidity

TLAAT § T AT 2

What is inventory turnover ratio

T AT STITA 47 2

What is capital gearing ratio

St &ferahaoT STaTa I 8

What is meant by earning per share (EPS)
gfer 3T 7ol | 7 ST 2

What is the meaning of average collection period

SIRCERRICCIPE I R CIER]

What does an operating ration indicate

qINETET STATd T Hehdl <all ol
What is fund

Y T 2

State the two sources of fund

1Y % a1 T9@ &1d sIqrgd|

State two application of funds.
1Y % &T SUINT TS|

What is meant by fund flow operations.
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qiGETe O 1Y 9 ) AN 2

State two non fund expenses.

&1 T 1Y 741 3 ATH a3

What is meant by working capital
T it 7 &

What is gross working capital
CEREIPHIKECIERIE]

State the meaning of net working capital
NI PHIE R CIEARCRECIER]

What is permanent or regular working capital
worreft a fafia sriefier osff @ 2

What is operating cycle period

TS =ik St & 8

Explain the meaning of cash management

Tehg g 7 279f Taee Fifsr|

What is meant by cash planning

e TSt a1 o a7ef 2

What are the functions of cash management
TS Jaieel o T e g

What is the management of receivables.
YT 3T el 37T 2

What is the credit policy

g Hifd =R
What is line of credit

e HeT @ = 2

What is meant by credit analysis

a1g forveisoT 7 /T 3719 R

What are the 5 ‘C’ of credit evaluation of customer

ITee o1 AT e & 3§t F1 2

What is ordering cost
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J1STT 3 =l 1T 4T 2

What is the economic order quantity, give formula

HTforsh AT T 2| G At

What is meant by Re-order point. Give formula
O YT foreg =1 1 AT 81 G 41T

What is the maximum level. Give formula
Hfershad &t 7T 81 A i)

What is the minimum level. Give formula

I W R g Al

Define ABC Analysis

st fergetsor =it qiedT T S

Define financial planning
IEIRAERIEEEARERILIRHIER]

Mention four characteristics of a sound financial plan

%3 Tared i T o =Te Ter aargd

Name four techniques of financial forecasting

ferec T GaIiHTT =l =R qepriiehi o AT S5
Define cosh budget.

TR ST ol TRHTNG shiTSIg)

What is breale-even point

o foreese fereg T R

Define contribution

FHTEH hl afeaTsT S

What is profit/valume ratio? Give formula
T HTAT ST R 2 g i

What is margin of safety

g dET R 2 g

Define a limiting factor

Hifaa s it gfvamar sy
Define Dividend
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AT ST gfeTeT difsrg)

Define Interim dividend

A=A AT ht gfearsm i

What is mean by dividend policy

AT i =T = A R

Give formula of walters model of dividend

ATHIE o STt ST 1 g ifs|
Give formula of M-M’s model of dividend

UH TH o SATHIE ST 2T &1 difsr|

What are bonus shares

ST 39T T 2

What is stable dividend policy
TE AT ife = 2

What is pay back period
a1aTet STafer @ R

What is average rate of return. Give formula

3fTHd T & T 31 ¥ S

What is internal rate of return

STk T &€ T 2|

What is net present value
Y& AT I H1 2
What is profit ability index

AT Yashish T 2
Define discounted pay back period

SURTIG STert Tty i afeamfia shifsn
What is public doposit

S-f8T =8 2t 2
What is mean of plough back of profit

SICIEEICIERISEKICRIEC DR

What is the sources of short term finance
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FCTRTCAN fored ST % id -1 2
What is equity share capital

GHAT ST gt T BNl

What is debenture

ER REERIRIGIN

Give difference between share and debentures
FHIT qAT BT I H e TS|

What are preference shares

qaffereR 3t R 2

Write the formula to find out free float

ieT shl STaTe STAfer F1d L T G SIdr33)
What is mean by Activity cost

EXICELERSEGRE T E G R

what is mean by optimistic time

SIS Go fohd haEd -1

What is mean by cost slope. Give formula

ST STt ol hEd &l g atisidl

Define financial management

fered T Wiy shT ReATST 1S

Give two characteristics of financial management
feredta Teier oht & fareivaTe srarsa

What is intangile assets

37 gt @ Bt 2

What is mean by financialstatements

farediar fereord @/ se R

Define financial statement analysis
forect fersmott =h1 fageiwor =t 37ef srqrsd|

What is mean by trend analysis

yafe fareersor ford e 21

State the name of four techniques of financial statement analysis.



St ferget™or sht IR deheiehl o TH Sd1sd

ergerede we (Short Questions)

1

10

11

12

State the function of financial management
EiRRERERIPEERIER]

State the difference between fixed & current assets.
worreft & =Te] FFafE § ST S|

What is mean by owner Equity

T ht G FT S R

Write four uses of financial analysis
feredt fergeis ot o =R 3wt ferRad|
State the mean of break — even- analysis

o faese faeaivor o1 319 SaTgd|

Explain the meaning and significance of current ratio

it fereRTor 3TUTA sRIT 8 $Heh! ST SIaTs3|
What is capited gearing ratio? Explain its utility

it fereRTor 3TUTA sRIT 8 $Heh! ST SIaTs3|

What isaverage collection period? How would you interpret it.

FTHd HUEUT AT T & 319 ST [Ha< [ohE TehR 4|
Explain the computation & significance of the debt-equity ratio
0T HEAT STTATA 2l UM U HEe qemsy|

What is meant by return on investments? Why it is important
EERRE SRR RN R ECEER K

It a company currebnt assets are Rs. 4000; stock Rs. 8000 and working capital
is Rs. 33600; calculate liquid ratio (Ans 5:1) I

fer sk Shrt 2T =Te] | i 40000 THeE 8000 AT FwEFAE GSiT 33600 F.
FS FTUT el shifory]
It a companye working capital is Rs. 3000; total debt is Rs. 65000 and long

term debt are total debt is Rs. 65000 and long tem debt are Rs. 50000; calculate
the current ratio (ANS 3:1)
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afe wsh wroet st sefier oot 300008, ow 65000%. e defepreti 50000%.
&1 Al =Te] T Hd il
Current ratio is 2.2:1 and the net working capital is Rs. 36000; Calculate the
amount of current assets and current liabilities. (Ans. 66000 cl 30000)

2.2:1 2 7o 31 shrwfier gsit 36000 . & =e] TeatEt 7 =i e
EIRILEICAIERT
A Companys cost of goods sold is Rs. 600000 purchase Rs. 660000 and
opering sttoke Rs. 120000. Calculate its stock turnover ratio (Ans. 4 times)

ush FHraAt i fashia @t i @ 600000%. s/ 660000 =, o arfraes =y
120000 %. & dF e HTed STITd J1f shiTr|

Current liabilities of campany are Rs. 300000. Its current ratio is 3:1 and quick
ratio 1:1 calculate the value of stock in trade. (Ans. 600000)

Ueh ST o =1 @t 300000 . 3:1 e et 3rguma 1:1
= EARUNEIREAISIY

Difference between fund from operation and net profit. aftermer & =it ud =
AT H T FhifS)

What do you mean by working capital

ehrdeieT OSfT & 3179

What is meant by the term fund

1Y T2 ¥ 3T FT
What meant by the term flow.

4@ IMeq

Flow will you trest the proposed dividend while preparing funds flow
statement.

1Y YaTE faator & yEarfad a9 &1 SaeR 3119 fohd TR &3
Differentiate between fixed and current asset with the help of examples.
TS o <] Fraidar § JaTevr dfed 3w

How is the amount of fund from operations computed

qGETeT I oht TRT AT 0T 3Fd 4|
Distinguish between funds flow statement and schedule of change in working
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oIS SelTe fereor o shrdefier qsft § dfterd shi arfetert 7 1= sid
State the difference between fixed and variable working capital

feort wef ufterdreiier shrefier it & 1=t siarg
Why net working capital concept is supervir
3[&, FRIT i STTIROM 253 1 8

How Is excess working capital dangeroos

Hcafereh shrdeiter gSit ford FehR @eiTe 2|
How IS optimum balance of cash determinated

TS Y 3T Sheiad &L h4 i fora Siar 8|

Explain concentration banking

Hohes

Explain cash planning and fore casting

qehg TS Ue qaiqa st aused|

Explain the mean of recelvable management

qTUT 3 JaiY T 379 THEEd|

Difterentiate between stringent and liberal credit policy
T 37t IS

How credit analysis is done

TG Torgetyur fohe JeRr fora ST 2l
Credit 1s the soul of business. Explain

AT a1 shl HTHT §
State the meaning and utility of ABC analysis

usfet faversor &1 37ef ud SuAIfET s7q
What s economic order quantity? Give its assumptions

anTfefer STTeST /T oI 21 SR AT
Explain perpetual inventory system.

TR &b T shl gH=ATs
What do you mean by safety stock

QTSR O HEd

Financial planning s the key to successful business operations. Explain
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ferceftar fHrats et saTar@Tih St ol il 8] aaesy)
Explain importance of financial planning

EERERIECEIR HE R L
What 1s the utility of cash budget

ks SISIC Rl T
How projected balance sheet and income statement is prepared

TerTud Forgl Ud ST foaeor e Gam R ST 2
How is contribution useful in managerial decisions

3f3re™ geeeh fofat 7 fore gerr suait 2
Prepare break-even chart with imaginary figures.
HTeT(eh THeh 9 -foreese =me ST

Find breakeven sales and net profit if p/v ratio is 50% margin of safety is 40%
and sales valumes is Rs 100000. (ans BEP 6000 net profit)

afe v amEm ergara 90 sfderd geear suia 450 sfasra 3w fasht 100000,
fo=se f = a 3 o Ja il

What is the meaning ofangleof incidencein a break even chart.
a9 foee 91 § wvTa &5 iy § 7 Sy &

Calculate margin of safety from the following figures. sales 400000 variable
cost 200000 fixed cost 100000 (Ans 200000)

[T AR ¥ Y&t 3T HiHT sl TUMT ity
Difference between regular dividend and interim dividend
09 T A= A § 3T+l hify
What is the meaning of dividend and conditions for it declaration.
SATHIIT 3T 7Y F SO Hafet I1d 1 3
What are bonus shares? State the justification of their issues.
Y S FT A 1 AT s
What 1s walater’s model? Give its assumptions.

FTeet ITaHT 1 8| $deh! H1=Id
How a project Is evaluated according to pay back method
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eIt srater forfer & aftarrsi st gearish for SeRr foha Sirar 2
Explain the computation of accounting rate of return
G T L ! TUMET THEE|

What is the internalrate of return method? Explain

HT=eh Ted F 3 191 R 8
Compare nwt present value method with internal rate of return method.

%T&'elc‘h-uﬂ qe TAT ATANER YA atﬁﬁraﬁrgmﬁﬁﬁl

A project cost Rs. 18000. The estimated annual cash inflows during its 3 year
life are Rs. 8000, Rs. 7000 and 6000 respectively. Find out pay back period.
9Ans 2 %2 year)

o afersHT =it errd 185000%. @ gaeht i o o Sfta d 1At Uehg I=eile
a3 ; 8000=. 7000 %®. 6000 ® & 3rerrft srafr gra Hifs

For an initial outlay of Rs. 10,000 a machine generates cash in flow of Rs. 5000
for 3 years. if the required rate of return is 10%. Find out the net present value
of the project.

10000 . & uyrfeyes fafa=m wus g3fi=a 3 a9 & faw 5000%. & s 1=
&9 H i Fl € Ffe oot hrgeant 10 i g At aiEisHT 3 aaae
EREICEAIE L

Give difference between share and debenture
I T R/ I H 37
What Is the difference between cash credit and overdraft.

e 9@ o fefaehy § 1 3=

Differentiate between cumulative and non-cumulative preference shares.
EERIK RIS E R ClIEE e MR RE [ CHER]

differentiate between redeemable and irredeemable preference shares.

IR AT SN T eI S H 3L (T

Glve main characteristics of debentures.

RO G5 h! THE SRS Sdrersd|

Explain the characteristics of shares.

S NIEINCN LG R EIED]

Differentiate between participating and non- participating preference shares.
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grfterud FUTiierR IfRME 379 & 372 Toee i)
Differentiate between PERT and CPM

I . L H I
State the utility of PERT technique.

T dehHTeh oh ST Sd1sd|
How is determine th critical path. skri-der qer =T f&iTor fshe TeRr feram ST 2

What is the Independent Float.
£ W rafy 5 Fad 2

A Company carns a profit of Rs 800 on sales Rs. 3000 in the first week,
whereas in nest week it earns a profit of Rs. 2400 on sales Rs. 38000. What is
the break-even point of the company? (Ans. p/v 20% FC 2500 BEP 26000)

ua FrHT om aaarg | 30000 &, & fersht w 800%. ,
guare 385000%. &t forsht v 2400 T &Y AT Bl o teae ferg R

A Project of Rs. 2000000 yielded annually profit of Rs. 300000 after
depreciation at 12.% and is subject to income tax at 50% calculatepay back
period) Ans. 5 year

2000000=. =it uss arsET B9 12.5 ufawrd a st™eRt &t g2 50 gfderd 89 & e
300000 =. gfc o e ARSI st 81 Sterat safy 31q s

Closing stock of s Ltd. is Rs. 200000, Total liquid assets are Rs. 1000000:
Liquid ratio is 2:1 Find out working catrital (Ans. 700000)

wy fafee 1 sifam whu 200000%. 21 %o ot geafaai 1000000%.
2:1 2 it it 3 shifsra

What is meant by Earning per share, Explain with formula.
SsfeT 315 & T 7190 21 9 510 6wensd|

A Company’s Average stock is Rs. 80000 stock turnover ratio is 6 and selling
price is 25% above cost. What will be the amount of sales?) Ans. 600000

T 1 37T Thee 80000%F. T STeld STTTT 6 TAT oIk Hed < 25

yferera saferen &1 at forshi oAt Tfdn @ g




Frareaees war (Essay type Questions)

1 Define financial management and discusses its main functions.
ferecltr ws =1 ot afdTsT SifSIY 371 38 SH@ st <Al 01 shifsn
2 What do you understand by “Financial management” Discuss its significance in
business management.
fored ™ Jave | 37T 1 GHEd B SFFE™ e H ool Yary % Hecd Sl e
s
3 What is balance sheet? lllustrate the forms and contents of a balance sheet?
fergr o/ 81 forg =1 s v oy amft <t wmEE
4 Explain the different techniques of financial analysis.
forecfr fovemur it fafir da {61 awemed
5 Write short notes on the following f=e ot fewauft
(i) Comparative statements qerree=
(ii) Common-size statements
(iif) Trend analysis safe fereerson
6 Form the following size balance sheet as on 30 june, 2007
v ferfiee & e crar faawoni @ 30 2007 =61 v goHeRR fagt sqmsd)
Balance-sheet
Liabilities Rs. Assets Rs.
Share capital 60000 Cash 5000
Reserve fund 10000 Debtos 12000
7% Debenture 25000 Stock 15000
Sundry Creditors | 10000 Bills Receivable 9500
Bills payable Prepaid Expenses | 500
Fixed Assets 70000
120,000 120,000




7 The Income statement of S Itd are giren for the year 2005 and 2006.Convert
them into common size income statement.

ug fafiee Fa¥ 2005 2006 o 7 3| 38 guETERR o1 e &
giafdd shifsr qem gfeadHr s fHa=a Shifsm
Income Statements
for the year carding 2005 and 2006

Particular 2005 2006
Gross sales Rs. Rs.
Less: Sales Returns 725000 815000
Net sales 25000 15000
Cost of sales 700000 800000
Gross profit 595000 615000
operating EXpenses: % o000 185000
Selling &  Distributing
expenses 23000 24000
Administrative expenses | 12700 12500
Total operating expenses | 35700 36500
operating income 69300 148500
other income 1200 8050

. 70500 156550
Non-operating expenses 1750 1940
Net profit during the year

68750 154610

8 The following data are being taken from the records of B Itd. as on 30-6-2006.
30;6;2006 = <rat & forr mr @

Rs. Rs.




Cash

25000 Bills payable 3000

Debtors (net) 12000 Sales 53000
Inventory 8000 Purchase 34000
Prepaid expenses 2000 Purchase return 750
Creditors 12000

Con the basis of above information compute the following. s
FTHIR G U TST|
(a) Working capital ratio) =rrezfier gsit sturd

(b) Acid test ratio st
(c) Inventory Turnover e strad
(d) Debtors Turnover &er s1ad
(e) Average payment period
(Ans. (a) 3.13:1 (b) 2.47:1 (c) 6.625 Times (d) 4.42 times (e) 165 days.
9 Following is the Balance sheets of A Ltd. © fefiree 1 fargr s s 21
Balance Sheet as at 31* March 2006
Liabilities Rs. Assets Rs.
Equity share capital | 40000 Intangible Assets | 24000
Reserve & surplus | 8000 Fixed Assets 56000
Profit and loss | 12000 Investments 4000
account 32000 Stock 12000
Mortgage loan | 4000 Debtors 12000
Bank overdraft | 16000 Bank balance 12000
Creditors 8000
provision for
Income Tax
120000 120000

ascertain the following ratios assuming that intangible assets have no realizable
value = Sraral shT TTUMT shifsi Teard g9 1o 7d araiet 1 18 el 9o
el &l




a) Liquidity Ratio)

b) Current Ratio)

¢) Solvency Ratio) e st 21T

d) Proprietary Ratio) wfie 37

e) Gearing Ratio) af~qertor 31gura
(Ans. (a) 0.86:1 (b) 1.29:1 (c) 0.625:1 (d) 0.375:1 (e) 1.125:1

10 The following is the income statement of K Ltd. for the year ended 31* March
2006

31 gr=t 2006 =ht T B9 AT I o1 o, fIHeE 1 31 foawor 4 TR 2

(
(
(
(
(

Rs. Rs.
Net Sales 3000000
Less Cost of Goods sold
opening stock 500000
Add:purchase 2000000
less: Closing stock 9500000
Gross profit 700000 1800000
Less: t(_)peratlr:cgt expenses 1200000
operating profi 480000
Less: Interest changes 720000
180000
Profit before taxation 540000
Additional information as on 31.3.2006
31 g 2006 = AfafEa
Rs.
Current Assets 975000
Current Liabilities 600000

Fixed Assets 525000




From the ahove information calculate the following ratios. Swtrer fereror & f srgurd
=1 TUMET i
(i)  Operating Ratio) ufterer s1urd
(ii) Operating Profit Ratio) af=etd «rw s1qurd
(iii) Stock turnover Ratio) &=rer s1rerd 1T
(iv) Assets turnover Ratio) @wafe strard s1qard
(v) Return on capital employed fafs=ifsr dsft ot s
Ans. (i) 76% (i) 24% (iii) 3 times (iv) 1.2 times ~ (v) 80%
11 P Company sells goods on cash as well as on credit basis. the following
particulars are extracted from their books of accounts for the year 2005,

. Pt 1E o T st 81 9 20005 3 fofq Sehl e geaehi @ e

T Bl

Rs. Rs.
Total Gross Sales 100000
Cash Sales 20000
Sales Return 7000

Total average debtors for sales during 2005 9000

Total average Bills receivable during 2005 2000

Provision for boubtful debts as on 31.12.2005 1000
Calculate the average collection period sftea v stafyr Fra Hifs

Ans. 55 days) hint - provision for doubt for debte not considered.)

12 Using the following information determine the
(i) Current liabilities (it) Liquid Assets (iii) Inventory Rs. 23000
Working capital
Ratio of current assets (liquid assets + Inventory) 2:1 to current ligbilities
ratio of liquid assets to current liabilities 1.25:1
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14

(Ans. (i) 23000 (ii) 28750 (iii) 17250

A TeTRae =TTl =T ST shid §U AT shifs
EISEIRE

T T ]

e

Using the following information determine the
() Closing stock (i) Liquid Assets (iii) Current ratio
Sales Rs. 1500000

Gross profit  30%

Current liabilities  Rs. 250000

Inventory Turnover 3times

(based on year ent value of Inventory

Acid test ratio 75:1

(Ans. (i) 350000 (ii) 187500 (iii) 2.15:1)

A TeTRae =TTl =T ST shid §U AT shifs
JAf~aH &y

T FFgtai

Using the following data compete the Balance sheet given below.

FrTeTRad ekl =T ST d g¢ 1= ol T ferg =l qui shifsal
Gross profit Rs. 60000

Share holder’s equity Rs. 50000

Credit sales to total sales ~ 80%

Total assets turnover (based on sales) 3times
Inventory turnover (based on cost of sales) 8 times
Average collection period (360 days a year) 18 days
Current Ratio 1.6

Long term debt to equity ~ 40%




Creditors

Long term debt
Share holder’s
equity

Cash
Debtors
Inventory
Fixed Assets

(Ans Total og B/S = 100000, creditors 30000,long term debt 20000 share 40%

equity 50000, cash 6000 debtors 12000,inventory 3000 F.A.52000)

15  (Following are the comparative Balance sheet of G Ltd. as at december 31

31 femwsr =i qorTens: forg Fefeita

Liabilities | 31.12.96 | 31.1297 | Assets 311296 | 31.12.97
Share capital | 1000000 | 1100000 | Good will | 50000 40000
Debentures | 50000 300000 | Land & 420000 | 66000
General 200000 | 200000 | Building |s00000 | 800000
Reserve 1110000 | 19000 P'an:]_ &1 250000 | 210000
P&LAIC 40000 | 110000 IVIIac. MEY" 300000 | 24000
Provision | 5000 40000 géﬁﬂ”g 300 24000
tax 20000 3000 3000
Income tax Debtors

30000 24000 . 20000
Trade Cas
creditors Preliminary
Provision of Exp
doubt  ful
debts
Bills payable

1950000 | 1994000 1950000 | 1994000

(Ans. Working capital 37000 fund from operation 382000 total of fund flow

855000)




At
Additional Information

(a) During the year 1997 a part of machinery costing Rs. 7500 (accumulated
depreciation thereon being Rs. 2500) was sold forRs. 3000

(b) Dividend of Rs. 100000was paid during the year ended 31% December 1997
(c) Income tax of Rs.10000,plant & machinery Rs.50000

(d) Depreciation for the year 1997 wasprovided as follows.

Land & Buildling Rs.1000,plant & machinery Rs. 50000

you are required toprepare @i) A schedule of change in working capital (iv) A
statement showing the sources — Application of funds.

()@ 1997 % wefiq =1 v 9 ekt @rra 7500%. (warta g 2500%.) |, 3000%.
o o= dl|

() 31 femwsx 1997 =i wared & arer & & 100000

()= 1997 7 50000%.

()& 1997 = fow g 1 ger =rsiferan ma

e vef var 10000
wa e wefiad 50000%.

Friefier it & aftad= i arfesm
1Y o QYT Td ST hT faawor

16 Form the figures given below, prepare a fund flow statement and a schedule of

changes in working capital. 1= f&2 72 wHeht @ I YaTe ferawor qor SR 3ot &
qitadH sl arferent sTEa|

Liabilities | 31.12.96 31.1297 Assets 31.12.96 31.12.97

Rs. Rs. Rs. Rs.

Equity share | 15000 175000 Fixed Assets | 260000 310000

capital 100000 | 75000 (Net) 10000 40000




10% 50000 75000 Investments | 120000 187500
Preference | 55000 135000 current 5000 2500
Share capital | 5000 7500 Assets
12% 35000 72500 Discount on
Debenture Debentures
Reserves
provison for
doubt
forbebts
current
liabilities
395000 540000 395000 540000

Additional Information

(i)  Provision for depreciation fixed assets stood at rs. 75000 on 31%
December, 1996 and Rs. 95000 on 31% December 1997.

(i) A Machine costing Rs. 35000; book value Rs. 20000 was disposed off
forRs. 12500

(i)  Dividend of Rs. 20000 was proposed and paid during the year

(iv)  Debenture were issued at a discount of 10%

e

() =S gt | gm o 31 feamew 1996 750008, 31 fewwew
1997  95000%.

(i) ek wefts fomeehl @ 33000% qer g&cs qea 200008, 12500 . &

(i) a5 520000 &. =1 @i T

(iv)  =worat =t 10 wftera s o ffee foram mm)

17

The following are the particulars of A Ltd. for the year 1995 and 1997.




1996 1997 = fawfaAl

Balance Sheet of A Limited
Assets: 1995 (Rs.) 1996 (Rs.)
Fixed Assets 605000 570000
Debtors 120000 140000
Inventory 200000 180000
Cash 90000 60000
Preliminary exp. 6000 40000
1075000 990000
Libilities: 400000 400000
Equity capital 300000
10% preference capital | - 200000
5% Debenture 150000 160000
P&L Account 150000 140000
Creditors 75000 90000
other liabilities 1075000 990000

()  During the year preference shares were redeemed of a premium of ten
percent.

(i)  Debentures were floated during the year.

(i) Fixed assets were purchased for Rs. 195000

(iv)  Assets of the book value of Rs. 140000 were sold for Rs. 80000

(v)  Dividend on equity capital was paid at 10% you are required to prepare
(a) Statement on change in working capital
(b) Funds flow statement




(Ans. Working capital - 35000, Funds from operation on 280000 total
of fund flow statement 595000. Assumed that dividend on pref. share is
paid for one year)

a9 & srfergr ofn @ 10 Tfaera it o sivys foram m
HOTTA okt a9 | ftee fomam mam|

worft grafai 195000% = o o1 T

140000% qdah Hea sht wmdt grafei 80000%  fersha =1 3!

()ewar ysit ux 10 gfaerd =1 foeror
() 1Y yare et
18 What are the various sources and uses of funds.
T T T

19 What is a schedule of changes in working capital? What is its usefulness and
how is it prepared.

HIEieT YSft & Tl sht dTicisht o7 &) $6chl STATHIAT T & T fohe SRR ST1%

20 How would you compute funds from operations & in order to prepare sources
and uses statement of funds.

I & @Id Td ITAN 1 fFawor daIR & o e 31ma afEmers & st it 7oEm
Expecatcul

21 What is operating cycle concepts of working capital? How will you determine
the amount of working capital under this method?

shrfiet GSif st ufcemet =ish raaren & 81 34 fafer @ wefsfier it s amm
STIAT 8 |

22 What is working capital? On the formation of a new business, what
considerations are taken into account in estimating the amount of working
capital required?
shrifiet dSfT o Bidt & Ueh i & @ ol TTUHT 9T SATeedsh hriviier gsit s

' C AW '

23 From the following information taken from the B Ltd. calculate the working

capital required by the company by operating cycle method.

() Annual sales are estimated at 10000 units@ Rs. 10 perunit.
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(i) Production and sales quantities coincide and will be carried on evenly
throughout the year and production cost is:

Materid Rs. 5.00,labour Rs. 2.00, Overhead Rs. 1.75 (including Rs. 2500 giren
60 days credit and 50 days credit is taken from suppliers.)

Customers are given 60 days credit and 50 days credit is taken from suppliers.

Fourty days of supply of raw material and fifteen days supply of finished goods
are kept in stoke.

The production cycle is 20 days and all materials are issued at the
commencement of each production cycle.

A Cash balance equal to one third of the overage other working capital is kept
for contingencies.

(Ans. operations cycle period 85 days working capital required Rs. 26356)

feT geraret § it feffids ol 1revdeh Srsficr qeit hl TOHT IR <0 foia |
shifs)

AT s farshl 10000 10 =. wfer 5ohTS =l @I R

3cqTe Ue sk gt 3t @it & 9o 98 qd-d g ®9 8 SHT &t 8l 3¢ g o
AN 36 eI &) |t 5%, 2 2 %, 3uiead 1.75 & (2500 & gre afraferd shid g0)
shredl wTet 2t 40 fomr =t ofd e ffifa wrer i 15 o i gfd werer 3 et St 2|
Scqreq =gk 20 &7 61 B T e Icated =sh & yrey | & gt o ffee o fean

I S e gSit 1 U foers fewn T wd 4 sreritnendret & fog @

You are supplied with the following information in respect of H Ltd. for the
ensuing year

v fafiee & o1 arct av & ey § frr g=

Production for the year 69000 units
Finished goods in store 3 months
Raw materials in store 2 months & consumption
Production in process 1 month

Credit allowed by creditors 2 months



credit given to debtors 3 months

selling price per unit Rs, 50
Raw material 50% of selling price
Direct wages 100% of selling price
Overheads 200% of selling price
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There is a regular production and sales cycle and wages and overhead accrue
evenly. wages are paid in the next month of accrual. Material is intoduced in
the beginning of production cycle.

you are required of find out the workin gcapital requirements.
(Ans. rs. 1538125 on cash cost basis)

(Hint: Ways and overhead in work in progress are taken for half of the
conversion period.)

Sduted e fersha =t fHafird =k 8 qer weivel vd Suftesd gHM &9 & feld gld @
aSigll oF B o STl HIE Il STl 8 W 3 3 =k oh IR | fifea ot

Tkl hTiefieT gt shl AT

From the following information, You are required to estimate the working
capital required

Cost per unit (Rs.)

Raw material 400
Direct Labour 150
Overheads (excluding depreciation 300

850
Additional Information
Selling price rs. 1000 per unit
Out pot 52000unit
Raw material in stock average 4 weeks

working progress (100% camplete in regard to materials and 50% for labour
and overheads.) average 4 weeks
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28

29

Finished goods in suppliers average 4 weeks
Credit allowed by suppliers average 8 weeks
Credit allowed to debtors  average 8 weeks
Cash at Bank is expectedtobe  Rs. 50000

(Assume that production is sustained at an even pace during the 52 weeks of
the year all sales are on credit basis.)

(Ans. 11500000 It debtors have been taken at selling prive Rs. 12700000)

EL=1SIECT| SRl Y 3TT9eh! 3TTAYI ShII3Med ﬁﬁwaﬁ:ﬂ'ﬂaﬂﬂl 2l

I 713 for 99 % 52 g | 3qute 99 71T 8 SR Ear 21 9+t fosra sum e )

(Discuss the management poblems involved in the planning and control of
cash. Explain the importance of cash budget as main tool of cash planning.

o

ke o HATSH U [9E0r § Migd auenedl 9 Yehel STicid 3T Uehe IS 6
T U1 o &9 H {6 oo FHT HEA §8

Define Accounts Receivables. describlethe factors offecting the investment in a
firms receivables.

T @l sl GICATST ifSidl 39 SHRehi 1 9UH hifSd ST foh Tk ®H & Tl |
ferfarmT =Rt wTferd & 2

Write Short note on the following
e ) femfor ‘
(i) Credit standards

(ii) Credit Terms & w1d
(iii) Ageing schedule of Receivables) s i shrershn e

Write short notes on the followings:

freafafed mfeamft fg
(1) Economic order quantity sTrfefes straeT #m=m

(if) Re-order poing  : smesr forg
(iif) ABC Analysis . . . fagemo
(iv) Safety stock geem T




30 P. Ltd. consumers 50000 unit of a component pe year. the ordering receiving
and handling cost are Rs. 3 per order. While the trucking costs are Rs.12 per
order. Futher details are as follows:

Interest Cost Rs. 0.06 per unit per year

Deterioration and obsolenscence cost Rs. 0.004 per unit per year
Storage Cost Rs. 1000 per year for 50000 units.

(Ans. EOQ 4226 units)

. fafires v sraaa &t ufaad 50000 ST 1 ITFANT AT 21 IS & ATed
AT @ hl ATTd Ifd 31w 3%, Selfeh ¢ & of 9 ot @ra gfd ey 12
nfafier foramor sq ywm 8
IR 0.06 &. wfcr 318 wfer ad

& 3ToEe arrd 0.004 &, 9fe g wfq o
gt AT 50000 3ehT3at 3 7T Siday 1000%.
aTfeleR sresT AT it ToET SR

31 Calculate the minimum stock level.Maximum stock level and re ordering level
from the following information

(a) Minimum consumption = 100 units per day

(b) Maximum consumption = 150 units per day

(c) Normal consumption = 120 units per day

(d) Re-order period = 10-15 days

(e) Re-order quantity = 1500 units

() Normal re-order period = 12 days

(Ans. ROL 2250 units ninimum L. 810 units maximum L 2750 units)*
frefeifad gemT @ =Haw Thee &, ferehad T & | 3TTCNT & T
£ -

32 Two components A and B are consumed as follows:
Normal usage = 100 unit per week each
Minimum usage =50 unit per week each
Maximum usage = 150 unit per week each



Re-order Quantity ~ A=400 units B 600 units
Re-order period = A6to8weeks
B 3to 5 week

g1 g 37 qAT & R 3T 4 TR BT B
gdes GTaUT o fo7u T S -

39T &R
= T

GRS
Fd Eieh &R
Calculate for each component:
() Re-order level (if) Minimum level
(i) Maximum level (vi) Average stock level

(Ans (i) 1200 B 750 (ii) A-500 B — 350 (iii) A-1300 B- 1200 (iv) A 900
B- 775

The following information is given about an inventory. v @ & st § =

Cost per unit = Rs. 1 per unit
ordering cost = Rs. 12 per order
Annual consumption = 12000 units
Inventory carrying cost = 24% of cost
Normal & Lead time = 15 days
Safety stock = 30 days consumption
FwrET % 7 360 f& s st 81 Jra i
The factory works for 360 days in a year, calculate -
() Economic order quanitity (ii) Re-order level (iii) Safety stock
(Ans (1) 1095 (i) 1500 (iii) 1000)

FATTIeR JATaRT AT

. ST HEAT
gifard woe|

o O BB W N -



34 Acompany has 10 different items in its inventory. The average number of each
of these items held, along with their units costs, is listed below. The firm
wishes to introduce an ABC Inventory system. Suggest a breakdown of the
items into A, B and C classification.

Uk FFT o TR B L0 o= g < 7e 81 Todeh 1e St 37§ 99T 39
gid T3 TG AW & TS 81 T, 6 et JUTTSl AR ST AT 8l

aEffereT o foTe HaT &1 forTsia shifsral
Item Number Average Number of | Average cost per
units in inventory | unit (Rs.)
1 35000 10
2 40000 4
3 10000 40
4 5000 100
5 15000 10
6 22000 3
7 90000 1
8 128000 0.05
9 30000 2
10 25000 3

(Ans. A=431B=2510C6.7.8.9)

35 A manufacturer has to supply his customer 600 units of this product per year.
Storage is not allowed and the inventory carrying cost amount to Rs. 0.60 per
unit per year. The set up cost per is Rs. 80 find -

() The economic order quantity
(ii) The minimum average yearly cost
(iif) The optimum number of orders per year



(Ans. (1) 400 units (i) Rs. 280 or Rs. 240
(i) 1.50r 2 order (iv) 8 months

e fATdT Ush 3cu1e sl 319 T UTeeh =l 600 3h1gai I I HA1qfd hedr 21 Joegrd

il Wil T2 & 3T hee Tad il TTd St 318 Sfaa 0.60% 81 & ff @rTd wfa
- 80%. B I A

ATk ST BT

~AqH Fted aTfie drTd

g a9 e SATe 6l

gfel STt AT SFTeheA 3Yfd Tefer

36 What is meant by inventory? Explain different techniques used for inventory
control.
T | 31T T 2l Th-y freiaron <t fafsm aerdient ot =1 @ s
37 Financial planning is the kwy to successful business operations.” Explain and
discuss the basic characteristics of a financial plan of a joint stock company.
ferferar s awet saraafaes st =t it 8| THETSY Ud U U3 Thed THUST
&b foredlta 1S o 9@ et =1 forar= shifs)
38 Write short notes on the following - fe= o fevaforer |
(i) Proforma income statement siferea a1rr oot
(ii) Projected Balance —sheet wxfire fergr
39 Explain the meaning of financial forecasting and describe the techniques used
in financial forecasting?
ferceftar qartamT st 31ef Tee shifsrr e ferddtar qarigamT =t fafer s aofq fifs)
40 The following is the balance sheet of Kanti Ltd. as on 31.3.2006
31 1= 2006 =1 wrfa ferfies =t fogr fe 21
Liabilities Rs. Asstes Rs.
Capital 120000 Fixed Assets less | 50000
Creditors 25000 epreciation 45000
Profit and 8000 Stoke 25000
Debtors




Loss A/C Cash and bank 33000

Balance

153000 15300

40

31 ==t 2007 st wwTed B4 ated o o forg sfer o et 31
The management made the following estimates for the year ended 31 March
2007

up to 28 th feb, 2007 March 31, 2007
purchase Rs. 152000 Rs. 10500
Sales Rs. 224000 Rs. 25000
Additional Information-

() It has been decided to invest Rs. 15000 in purchases of fixed asstes
which are depreciated @ 10% purchase of fixed assets which are
depreciated

(i) The time lag for payment to creditors and receipts from debtors is one
month.

(iif)  The Business earns a gross profit of 33 1/3 on sales.

(lv)  Sundry expenses against gross profit will amount to 12% of these sales
(excluding depreciation)

prepare a projected trading. Profit and loss account and balance sheet as on 31
March 2007

(Ans. GP 83000 NP 46620 B/S 185120)

srfarfea

Tt gratEt & sha | 15000%. o= e &t fHvea i , == 10 giaera
1 X 4 I forar ST 2

&I i WA 3 Ud SR § ST9d 3 § 90 forefsrar ua Aie i 2|

adr fasea 1t 33 1/3 ufcwra =1 aehet @y 31fsia st 2

Fhel T o g AT SR (BT 1 Sied gv) fosea = 12 fawra g

A company expecting to have Rs. 25000 cash in hand on 1% april 2006 and it
requires you to prepare on estimate of cash position during the three months
april to june 2006. The following information is supplied to you.




41

42

Month Sales Purchase ~ Ways Expenses

Rs. Rs. Rs. Rs.

February 70000 40000 8000 6000
March 80000 50000 8000 7000
April 92000 52000 9000 7000

May 100000 60000 10000 80000
June 120000 55000 12000 9000

31 ar=i 2007 =kt guTed 2 aTel a9 3 forw, vafud R

for =1 fergt ST

sk w0 1 39a 2006 25000%. Uehe ' B S 37U HAdl Bl A AT

3 & 57 2006 o i A Uehe Feerfd T STTHH AR FHAHT =Ted! 8] AT

HT=Hsh TG
() afcieratei g geepe
() 25 wfcera forsht 77a & Bt & o 3um forsht 3 fore ekt o1 w=iehd 39T o1

() =sielt wel 52t = 7T # e HIE o foretw &
(1) 25000. 2006 & =ehmarm ST 2|

Explain the cash requirements of apple jice companyfor December 2006 on the
basis of the data given below:

T AT % STaR W vud S P At e femre 2006 ST ke e

(a) Sales : August 2006 rs. 75000
September 2006 Rs. 60000

October to

December 2006 Rs. 80000 (per month)

() forshi s 2006 75000,
farawstr 2006 60000=

sFz  80000%. wfcmre
ferrt 2006
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Roughly half (1/2) the sales are for cash. 80% of credit sales are collected in
the month following sales and the balance one month later.

Apples are always purchased for cash to avail of the cash discount of 5% the
purchase budget for the last quarter (october to December is 4000 baskets per
month at rs. 10 per basket.)

Ways and salaries for the last quarter are budgeted at Rs. 15000 per month.
Manufacturing and othe expenses budgeted for the quarter are:

Cash Expenses (Manufacturing) Rs. 13500
Depreciation Rs. 18000
Selling Expenses

Administrative expenses Rs. 10000

(in October & November only)

(Ans. Cash balance oct. 6000, Nov. 18500, Dec. 38000 collection from debtors
oct 315000, Nov 38000, Dec 40000)

9T ATET Torsht 1v1e O Bt 81 39 forsht a1 80 Ufawrd feshl & 37Tel e | 37 919

) 5 ufererd T8 sIgr U A il gf¥ | UF wad Ao @lie Wd 8l Afan e
(srrz -femwer) 1 s arst 4000 i wfare 10%. gfa et 21

) stfaw fomeh § wsight & 37 &1 sz 15000%. gf Are 2|

) 39 MR & IR 9 - -39 [ oISIE 56 YR ¢

Fehe o (Fmiofisr 13500%. forsha =7 9000%.,

g 13000,

FTTCTd 53R (FFZS o FefFe ) 10000=.

Explain break — even point. Discuss the utility of break-even analysis and show
its limitations.
o fereag formg =1 7 fereese forg <l ST srdTsd qerm saeht Efmrsit =it
EEEEEIIEI

Any change in fixed, variable cost or selling price has the effect of shifting the
break even point/Explain this statement with the help of illustrations.

feort wmrat aftardefiet et a1 fashar gear o ferdt «ft aftard 1 gvme a9 famee
fereg 1 Ra@rshT 21 SETeTul ht FETdT | 36 o i Y Hiferi)
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In 2005 the position of X Ltd. was as follow:
X Ltd. wa feafiree s 2005 =t feerfar 56 s off -
Rs.
Sales 120000
Variable overhead 96000
Gross profit 24000
Fixed overhead 16000
Net profit 8000
Find out sma hifsm

(a) P/V ratio (b) Break even point (c) Net profit for the sales of Rs. 180000 (d)
Desired sales for net profit of Rs. 16000
(Ans. (a) 20% (b) 80000 (c) 20000 (d) 160000)
) ST AT AT o) T fereee ferg
) 180000%. = farshi w @t
) 16000 . = <+ 8q trareash forshi

The following data are obtained from the records of a company
Ueh 0T oh il | 5 ST7she T g9 8 -
Company 2005 2006
(Rs.) (Rs.)
Sales 80000 90000
Profit 10000 14000
Calculate

P/V ratio (ii) Break-even sales (iii) The profit or loss when sales amounts to rs.
50000 (iv) The sales required to earn a profit of Rs. 19000

(Ans. (i) 40% (ii) 55000 (iii) -2000 (iv) 102500 F.C. = 220000)
T hIfS -
AT HEAT AT 2 99 foreee forshar

fasra w3t 50000% 81 9T @ = &t hi afyr
19000%. @1 shHT o for foasee Tfar
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From the details given below, calculate :

et fa@r 3 foraott & gma Al -
(@)  P/V ratio (b) sales at break-even point (c) sales to earn a profit of Rs.
30000 (d) sales of give a net income of 10% on sales

Selling price = Rs. 10 per unit
Variable works cost = Rs. 5.50 per unit
Variable selling cost = Rs. 1.50 per unit
Fixed works cost = Rs. 270000
Fixed selling cost = Rs. 126000

(Ans. (a) 30% (b) 1320000 (c) 1420000 (d) 1980000)
AT | ST o) T fereedq foimg W fersha

30000%. @y fsid & forshl

forsht o 10 wfcrerd @ s &g fasea

Raj Ltd. has prepared the following budget estimates for the year 2005-06:
.3 a9 2005-06 & fore feferiiae srste e dar 6 € -

Sales (units) = 15000
Fixed Expenses = Rs. 34000
Salesvalue = Rs. 150000

Variable Cost = Rs. 6 per unit
You are required to calculate:
()  The plv ratio, Break-even point and margin of safety.

(i)  Calculate the revised p/v ratio, bereak-even point and margin of safety
in each of the following cases:

(a) Decrease of 10% in selling prive

(b) Increase of 10% in variable cost.

(c) Increase of sales volume by 2000 units.

(d) Increase of Rs. 6000 in fixed costs.
(Ans. (i) p/v = 40% BEP = 85000, M/S = 65000

(i (@) (b) © (d)



p/vratio 331/3% 34% 40% 40%

BEP 102000 100000 85000
100000
MS 33000 50000 85000 50000
TUMET shifSTT -

AT AT AguTd, | fereesg fereg e gea imn
Seleh 2T H WTITerd ST HIT 1,8 fereesg forg e gee diam Jrd shifer

) fersra g 1 10 wfcrerd et

) aftEdefier et # 10 faerd gfs

) fershar mmam & 2000 st A 9fg

) = @rral 7 6000 &, i 3fg

The following data relate to M. Itd. e

Rs.
Sales (16000 units at Rs. 15) 240000
Variable Expenses 192000
Contribution 48000
Fixed expenses 36000
Net profit 12000

You are required to calculate :
()  What sales are needed to achieve the objective of no profit no loss?

(i) What sales are necessary to result in a after tax net income of Rs. 11000, the
corporate income tax rate being 45%

(i)~ What should be selling price per unit if the break-even point in brought down
to 10000 units.

(Ans. (i) 180000 (ii) 280000 (iii) 15.60)

TTOTT ShITSTT

SIS AT AT BT 7 &I % 327 ohl JTTH & ToheHT ToishT hi STaeaehdT 2

11000%. & a=ma 3@ @ o forg, foraar foskar stawerss 21 afe fom ss it &

45 faerd = |
afe aw fereese forg 10000 oAt T &1 o ufd sehTs forshar o =/
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Ram Ltd. furnished the following data relating to the year 2005
. as 2005
First 6 months Last 6 months
Rs. Rs.
Sales 540000 600000
Total Cost 480000 516000

Assuming that there is no change in selling price and variable costs and that the
fixed expenses are incurred uniformly in two half periods.

(a) Profit-volume ratio (b) fixed Expenses
© Break —even sales (d) Margin of safety)
(Ans. (a) 40% (b) 312000 (C) 780000 (d) 360000)

7 A gU o6 faskar o ufterd=eiier ama § w13 afterds et &idr qur e s a1
3Tg J1Nes SafeE O g &9 9 forr maR, av 2005 & fow fefateaa &1 ufere
IR -

) -HE ST o) Tl e

) T fasra 2 )ygeen ¥
A company has a maximum capacity of producing 21000 units per year. Normal
capacity is regarded as 180000 units per year. Variable manufacturing cost are Rs.
11 per unit and fixed manufacturing costs are Rs. 540000. Variable selling cost are
Rs. 3 per unit, while fixed selling costs are R. 25200 per year. Selling price per unit
is Rs. 20 calculate:

(a) What is the break-even point expressed in units.

(b) What is the volume of sales in rupees to earn a target net income of Rs. 60000
per year.

(c) How many units must be sold to earn a net income of 10% as sales.

(d) What should be the selling price per unit if the break — even point is to be
brought to 80000 units

(e) Margin of safety at a profit of Rs. 90000
(Ans. (a) = 132000 units (b) = 2840000 (C) 198000 units (d) 23.90 (e) 300000)
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Ueh hEo i 3TfereRan Icared arda 210000 st it 81 = sderdar 180000
serTsat arfieh gt it 81 ufedasfiar fafor arma 11, afa s 81 e & T
sufter  540000%. anfies 21 ufterd=siier fasha amrd 3%, 9fd ghts 81 Stafer Tt fasrg
anrd 252000%. st = 21 forsha qe=r 20%. I 3575 2l
UM IS -

) & foreee foreg forafi forshl (39 ) omea @

) 60000%. gt o 31 1T AT T BT &7 TIed i & Teha fosht (wwam )

) forsra o2 10 wifcrera @ ifSia s o forg et sehrsalt ot o= st =l

) =¢ forrg 80000 sehrgai Wt & 9red AT &l 9fd TS forsha e
fraffe foram st =nfean
) 90000 . % <+ ot g il

The following data are obtained from the records of a factory.
T 37iehe Ush Sadt o AfYeal | U R T E -

Rs. Rs.

Sales 4000 units at Rs. 25 each 100000
Material consumed 40000

Labour charges 20000

Variable overhead 10000

Fixed overhead 18000 88000

Net profit 12000

() The number of units by selling which the company will neither loss nor

gain anything.
(i) The Sales needed to earn a profit of 20% on sales.

(iif)  The extra units which should be sold to obtain the present profit if it is
proposed to reduce the selling price by 20% and 25%

(iv)  The selling prive to be fixed to bring down present conditions.
(Ans. (i) 2400 units (ii) 180000 (iii) 8000 units, 20000 units (iv) 53.50

l A swEa Hi e NS o WA =

2 fersra ot 20 wfcerd < SAiSid i = STavas fosha
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3 fod el i 96 S aduH AT U S o [T ST gt afe fasea

g 8 20 gfcerd qr 25 Sfaed wH B w | ‘

4 forshar He farior Aife skt wrarerr foreg (@ fomese form) ardam feerfa & 500
21 T 3UASY F )

Explain critically the walter formula of dividend policy.

SATHIIT © AT A 2 FHIHAT 5T 163 ST J1ed {199 TR 3 AT ohl 3o

Hifsr=n

T ifer & Heiferd smeet g sht aHter sl
Explain the provisions of Indian company Act 1956 for dividend declaration

and distribution

ATHIST S9OTT Ue foraor o Hefer § 9 heat 3 1956 & yreram gHTS|
Explain pay back period method. Why it is so popular among businessmen?

What are its limitations?

, ST § Aer Aaty fafer sa-t sl =i

21 FEh! HIHTY =1

Discyss the relative merits of

IEIERISERIIRLIN -

Pay-back (b) the yield on investment (c) Net present value techniques for the
appraisal of investment worth

(@ ) -= =) ) UG A9 g fafEEi & amteen o

SNEIEACEEEIEIER]
Internal rate of return (IRR) a superior technique than the net present value

(NPV) method. Do you agree with this statement? Give brief critical view in
support of your answer.

TN T I & 9§ T qed fefer & 23 qehefier 81 =1
21 3TTT 3o T g8t & 79 A

The projects have the following details:
SERIEEICIK

A B
Rs. Rs.
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Cost 40000 50000
Estimated cash flow: 4000 6000

Year 1 2 3 4 5 6 7
Project A (Rs.) 5000 7500 12500 12500 10000 7500 2500
Project B (Rs.) 10000 15000 15000 15000 7500 5000 -

Out of the two projects, one project is to be selected. Consider which is better using
the following methods

()  Pay-back period method.
(i) Post payback profitability method.
(Ans. (i) A=41/4, B 32/30 (i) A = 21500 B = 23500)

g1 URISHTS § € Uah YRS 1 =99 fohar ST 81 Heferiiaa faftay o faem
gUaTgd o i & Sead @ 1) 2 Tl o7ty e Arved

A company is considering to purchase a machine. Three machine X.y.z are available
the details of which are given below.

Projects X Y Z
1 Cost (Rs.) 50000 60000 75000
2 Estimated scrap (Rs.) 5000 75000 10000
3 Life (years) 12 10 13
4 Average profit 10000 14000 18000

before tax & depreciation(Rs.)

Rank the projects on the basis of average rate of return. Income tax may be
taken at 50%

(Ans. X =11.36% Y 12.96% Z = 15.29 Rank 3.2.1)
Ueh ShedH[ Uk HI(F 5hF i OX [9=IR o B 8l o9 #33iH TR, | SIS 39aisy

IO TIRIET o STTUR T GRATSHISTIR sha g shiferg| ATFeRL hi g ©0 gfaera
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The initial cash outlay of project is Rs. 100000 and it generates year ending
cash inflows of Rs. 40000, Rs. 30000, Rs. 50000 and Rs. 20000 from the end of
first year to the end of fourth year.. Assume a 10% rate of discount. Calculate
profit ability index.

Year 1 2 3 4 5
Discount ~ 0.909 0.823 0.751 0.683
(Ans. Pl =1.1235)

factor at 10%

ek IRTSHT 61 SR fafrarsi 100000%. 8 ST ge o & o1=q 9 =1qef a9f & 31
ek e & a9 & ofa # 40000%., 30000%., 50000% @er 20000 & e 1=
3ca1 Lt 2l wrgt &t 10 wfcrra Arfad) e gerehish i oA Hifs)

A project cost Rs. 32000 and is expected to generate cash inflows of Rs. 8000
each for 5 year. Calculate internal rate of return.

At 7%,8% and 9% per annum, the present value of one rupee received annually
for 5 years is 4.1002,3.9926 and 3.8896 respectively.

(Ans. 7.931%)

ua afErsEr st anra 32000%. 5 ast ask gfaay 8000 &; Uere 3rae uTd
B T GHTEET =i I 7 & st oEr ifsw) 7 gfqea, 3 gfaea 9 9 gfeea
aTfifer 3T 9T 5 a9 dek Sfded AT B aTel U 9 o1 gaH qed s 4.1002,
3.9926  3.8896

Two after native capital expenditure proposals, each costing Rs. 100000provide
the following expected net cash in flows.

Years 1 2 3 4 5
X Rs. 30000 40000 50000 30000 20000
y Rs. 10000 30000 40000 60000 40000

&1 Aehfeueh qSit fHoia Seer 9 o st AT U o &1 § {4 3¢ Uohe 3iadie
TSy
s WEH T a1 Jodieh iy

) "

) sTerert Tafer wweEw

) farfamT o yaam fafer
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) I A T
Evaluate these proposales on the basis of

(a) pay back period method (b) post pay back profitability (C) Return on
investment method (d) Net present value method.

(b) use a discount rat of 10% per annum. Discount factor at 10% per various
years is as follows.

Year 1 2 3 4 5

Discount factor 909 823 75 683 .621

(Ans:. (a) x 2 3@5 year Y 3 1/3 year (b) x=70000y = 80, 000

© x=28% y=32 % (d) x = 30.770 y =29.730

(c) 10 wfcrara anfiier srgr &€ &1 w=mT hifee, fafir= awt o fore 10 gfderd sg1
39 U
64 What do you mean by ploygh back of profit explain its advantages and

|osses. @t & A FRtem & o1 w0 wHId 81 3@H T wIHAl H A
s

65  Explain briefly different sources of long term.Founds for Indian industry.

AT JETT o ToTT SreehTei hisi o [t ATeAT ol Hard § THes|
Rank the investment proposals in order of their profitability according to (a) pay-back
method (b) Average Rate of return (C) Present value Index method (Cost of capital
10%)
frferfae ferfera s ST shid BT eTweTshdT =l gfE | farfarsi J&ara =l SrrfHehdr s
aT= hifer -

)
) Sfred g
) AAHH e ¥ ( 10 wfcrere)
Proposal No. Initial outlay Annual cash flow | Life in years
A 25000 30000 10
B 3000 1000 5
C 12000 2000 8




D 20000 4000 10

E 40000 8000 12
(Ans. (a)4.1.3.2.2 (b) 5.1,4,3,2 (C) 5,2,4,3,1)

67  The estimated cash flow from a project requiring initial investment of Rs,
70000 will be Rs. 10000, Rs. 20000, rs. 30000, rs. 45000 and Rs. 60000 in the
first, Second, third,fourth and fifth year respectively. Compute
(i) The net present value of the project at 25% discount rate
ii)_ Profitability index
iii) Internal rate of return of the project
Discount factors:

Discount rate I li v v
25% 800 640 512 410 328
30% 769 592 455 350 269

(Ans. (i) 4290 (ii) 1.06 9(iii) 27.326%)

68

U i e gifyes o= 70000 & &0 8 STETHG Uk JEE S
foefrar, © , =qel @ d=m e | sewen 10,000, 20000%, 3000%; 45000% qen
60000 & &I =T A &

oM T -

st =1 25 ferra a1 &t W 3 adH e Hed

REIISHT &7 3T e Tqamd &¢

M. Itd. is considering investing in a project requiring a capital outlay of Rs.
200000. Forecasted annual income after depreciation but before tax is as
follows

Year 1 2 3 4 5
Income (Rs.) 100000 100000 80000 80000 40000

Depreciation may be taken as 20% on original cost of the assets and taxation at
50% OF NET INCOME

You are required to evaluate the project according to each of the following
method.
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0

1

() pay bade period method (ii) Average rate of return method (iii) Net present
value method (iv) Net present value index method (v) Internal rate of return
method.

(Ans. (i) 2.25 year (i) 40% (ii1) 108130 (iv) 0.54 (v) 30.87)

. 200000% =T 4z AT =t Tk qRETSHT # ferferis qT for=m s T 1 g
eIl fofed] 3 | el QAT aTieh ST 36 S 2
T8 shl TUHT et 2l Het ST o 20 Sfaerd w2 {1 e 50 sfeera o forar s

10 wifcrera 21
et frferfaa farferdi & afts s qeaied w6

AT I

[ 9 7o |

3[E TG He

AN TR

¢ qehiTeh § G T 1 37ef e

Afereman et

[ERINCEI]
Explain the following termsused in PERT techrique:

() Optimistic time (ii) Most likely time

(iii) Pessimistic time (iv) Event variance

(v) Activity variance

Explain the different types of floats used in CPM technique.
%y fafie St e

The following information is known for a project

Teh TSI § Heiferd for g Suetsy

Activity | 1-2 1-3 2-3 2-4 3-4 4-5

Duration | 20 25 10 12 6 10




TOMT ST
TSI T =g

ferfertet topamat o fore it st et 31aTY o Ta] 314
Calculate the followings -

() Network diagram of the project

(i) Critical path

(i)  force total and in dependent floats for each activity

72 The table given bwlow gives the different time estimates for a project
Activity Optimistic to Most likely tm Pessi mistic tp
1-2 1 1 7

1-3 1 4 7

1-4 2 2 8

2-5 1 1 1

3-5 2 5 14

4-6 2 5 8

5-6 3 6 159a

et rfeteRt | Uah TiATSHT § Heited foRanett & o faii= amamgae |
(2) Draw the project network

afersT 3 fora aq o s
(b) Calculate the expected time and variance of each activity

g TohaT Sl Ieanira s1afyr a fo=or 31a Hifse
(c) Find expected length of critical path and its variance

TH T &l JATRTT TS Ue J=roT J1d hifsie
(d) Calculate event variance




S H2AT 3T JET J1d IS
(e) In the project due date is 19 weeks. Find the probability of not meeting it.

afe TS 2t QU s =t 3tarter 19 aedre feffed =i s ar 5@ srafer d qieisen
YA A wrRrenar 3| |

(f) Find the probability that the project will be completed in 20 weeks.

gfeETSHT o 20 FedTe L & shi AR 1 hicd

(g) Find the duration which has 90% probability of completion

90 wferera srfrerar = forw afESHT THTHE At 31afer J1d i
Find the probability that activates on nest most critical path will be completed
in project due date

= T % fHehean qor i Shanati o qur g1 sht ifrehar 31d shife)
(Ans. (&) 25.14% (f) 84.13% (g) 20.84% (h) 99.84%




